H & 0l & AHS B Ml A

A THRD

HH: LR =HE

? XA S

SA-3Y - SA(SAH) - MRAY - B Off &4 & A BlunsZ
THS 1t 58,424,186 57,169,808 1,254,378
= 62,166 62,166 0
== 9,000 0 9,000
s 58,353,020 57,107,642 1,245,378
NSHE == 3,526,594 3,201,913 324,681
= 43,500 43,500 0
= 9,000 0 9,000
s 3,474,094 3,158,413 315,681
KA S 194,674 178,493 16, 181
KAl «=2tel 194,674 178,493 16, 181
301 LENZ 8,340 5,000 3,340
14 DBt 2 a3 8,340 5,000 3,340
O8a YA X3 3,340 0 3,340
308 AHXIEMSOIE 69,948 57,107 12,841
07 MR SHHIRE = 18,000 0 18,000
OATHAEUUE X XIZAE= AAEAISH 18,000 0 18,000
11 S 2SO0 E & AS AL 51,948 57,107 A5,159
OXNLNEEAAE SXIE==H] 0 3,000 A3,000
OXHIHXIZME 2AIAE 2EH= 51,948 54,107 A2,159
AEA XN = 67,630 58,630 9,000
& 9,000 0 9,000
= 58,630 58,630 0
et XAl da=2c| 67,630 58,630 9,000
S 9,000 0 9,000
i 58,630 58,630 0
201 2= 49,330 42,330 7,000
== 7,000 0 7,000
[ia 42,330 42,330 0
01 AtR2telbl 25,000 18,000 7,000
ONSRSRE LA dRHE 4,500 0 4,500
= 4,500 0 4,500
OXNgANNEE &8s 225 2 2,500 0 2,500
== 2,500 0 2,500
405 AtatE = 2,000 0 2,000
=S 2,000 0 2,000
01 ML ESHSHI 2,000 0 2,000
OXsXREHI XA AR ZE| L 2,000 0 2,000
== 2,000 0 2,000
AL 2el 2,891,740 2,702,240 189,500
N2 JIsEH 1,523,250 1,413,250 110,000
401 Al HIZL 201 492,700 382,700 110,000
01 Al=H| 492,700 382,700 110,000
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S THRM
g NLHE ==
et AL 22l EER=E)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
O2H =S4 LSA 30,000 9,500 20,500
O=2gd Jls 2ZSA 20,000 0 20,000
OtEHE Jls 2B 37,000 0 37,000
OEXIE Jls 2LSA 18,500 0 18,500
OXEHE Jls 2ZSA 14,000 0 14,000
SN0 Y 22 2Acl 358,990 288,990 70,000
405 RHaks S| 218,790 148,790 70,000
01 At =S F = 218,790 148,790 70,000
OgREg =37 80,000 50,000 30,000
O3/ SIHSAE, FSH AgH AEH
A, 2ES 2T EXIH, XIAE)
100, 0002 *4007H 40,000 0 40,000
e S| HEAY 1,009,500 1,000,000 9,500
401 AIEHIZL 20| 1,009,500 1,000,000 9,500
03 AIZ=CHYI 9,500 0 9,500
O2=+8 d=5wc|d A 9,500 0 9,500
SR 2e 154,500 44,500 110,000
SEMA 2/ X2 74,500 44,500 30,000
401 AIEHIZL 20| 30,000 0 30,000
01 Al&ZHI 30,000 0 30,000
O=F Mt W2+ 30,000 0 30,000
EX H 70,000 0 70,000
401 AIEHIL 20| 70,000 0 70,000
01 Al&HI 70,000 0 70,000
OEX (7 BAMEL 2X) 70,000 0 70,000
N 10,000 0 10,000
405 RhakF S| 10,000 0 10,000
01 MM =ZFSHI 10,000 0 10,000
OS=Mat e+ 10,000 0 10,000
HH2LZHI(HRD) 54,801,852 53,872,155 929,697
= 18,666 18,666 0
= 54,783,186 53,853,489 929,697
] 54,743,052 53,813,355 929,697
= 18,666 18,666 0
= 54,724,386 53,794,689 929,697
eIEE2dg 43,518,092 43,145,978 372,114
101 el24H| 41,458,152 41,198,538 259,614
01 2= 41,203,293 40,943,679 259,614
O=r=; 28,326,090 28,213,135 112,955
—82% 101,261,000 <1 101,261 9,642 1,619
-2z 97,107,000& 1< 97,107 96,365 742
—4= 95,231,000 x5 476,155 485,945 A9,790
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2A:
T ZH -
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=aak

% =
% 0% {0
Ho Ao &
02 02
=

e

oy
=
=
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- ZH - SR(SH) - NIRA - BES (1;| Palgely | & A Hlns
—5Z2(ASH THa) 85,001,000 x35% 2,975,035 2,819,110 155,925
—53(S2H )

5,140,600 x5« 12 308,436 181,970 126,466
—62 4,285,500 x222% x 128 11,416,572 11,276,397 140,175
—-72 3,294,500« 1252« 122 4,941,750 5,170,083 N228,333
—83 2,399,900« 1262« 122 3,628,649 3,426,430 202,219
—93 1,922,300 «105 122 2,422,098 2,695,680 N273,582
—AA 3,800,200 x4 2 x 12 182,410 179,362 3,048
= 86,274,000 312 258,822 339,252 80,430
— XIS A 2,993,400 x26 %« 122 933,941 918,341 15,600
— LA | 54,838,400« 10 548,384 524,558 23,82
— AIZHS BT O] | 35,470,000+ 1 35,470 0 35,470

OAIZRA2 R 2,934,093 2,853,434 80,659
—52 14,6921 % 12 +33A| 2+ 128 5,819 0 5,819
—6= 12,53120%222H %33 A| 2+ 128 1,101,626 1,088,043 13,583
—-72 11,3192 %125 x33A| 2+ 122 560,291 586,195 N25,904
—8=2 10, 1622 * 126 %33A| 2+ 122 507,044 478,777 28,267
—-92 9,620 1052 +33A| 2+ 128 400,000 362,736 37,264
—A2A 11,8762 42 +33A| 2+ 128 18,812 18,812 0
— XIS AH21E 20/ 4})

11,81621+3Z *33A| 2+ 122 14,038 18,405 N4,367
—XIZAH20520I5t)

11,0742 %232 +33A| 2+ 122 100,862 112,103 A11,241
—CAHZ 2Y

11,3190 x4 *17A1 2+ 122 9,237 10,054 A817
—UEEHA J|A

11,3192 x4 +24 A 25 122 13,040 12,822 218
—1& X JIAH

10, 16224 % 1 +57 A 2t 128 6,951 4,437 2,514
—25 X JIA

10, 16224 % 12 *57 A 2+ 122 6,951 2,039 4,912
— 24 SbIA

11,3192+ 12 +57 A 2+ 128 7,743 4,942 2,801
—9|3|AL2 1 JIAt

11,3192 %2 +57 A 2 128 15,485 4,542 10,943
—O|Z|AFR2 I JIAH( I & 4=3H)

10, 16224 % 12 *57 A 2+ 122 6,951 4,437 2,514
—O|Z|AFR It 4=BHH| A

10, 16224+ 12 *57 A 2« 128 6,951 5,471 1,480
— 20152, FIIE(AIEAI &)

12,5312 +6Z+BA| 2H+ 122 7,218 4,732 2,486

—HASIMINLN, 24

12,5314 #5Z *17A1 2+ 128 12,782 12,568 214
—MEZRXH(ARISKID)

11,3192+ 162 #24 A 2H4 2 17,386 17,096 290

- 105 -




S HRH
A HZYRIZHI(HRH)
el QIEE2E (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
—EIEAHSMA(AHE)
11,3193+ 17 Al 2t+53 2,887 1,893 94
—SHEALL 2
11,3193 6+ 17 Al 2123 13,855 13,624 231
—EHAZA(22H9 22)
12,5313 * 162 +20A| 2+ 123 48,120 47,313 807
—MolthM =22 (22LH9 22)
12,5312 +8H+32A| 2+ 12 38,4% 37,851 645
—C2LH 34K 2HE
11,3198 x 1 =17 Al 2123 2,310 2,271 39
—HEEX & 882
11,3192 =1+ 17AI 2+ 128 2,310 2,271 39
—CUS0IEAIE XSS (HAPI4D)
11,3193 +3E* 17 Al 2H+ 123 6,928 0 6,928
OJE=g 726,000 660,000 66,000
e DE 30,0008 =220~ 128 79,200 52,800 26,400
—SMAA 70,0003 =220 * 128 184,800 158,400 26,400
— AP0l & XHA 110,0002 110123 145,200 132,000 13,200
204 MBI 2,059,940 1,947,440 112,500
02 Hs2 X 1,639,560 1,527,060 112,500
OXZE x| 1,519,560 1,407,060 112,500
—6= 185,0008 x253& » 123 561,660 531,300 30,360
—72 180,000& x135& » 122 291,600 267,300 24,300
—8-98 175,0008 x241&8» 123 506, 100 448,260 57,840
SIHA2 2 2152 11,178,960 10,621,377 557,583
101 2124H| 11,178,960 10,621,377 557,583
02 JIEt A2 = 2,139,266 2,124,116 15,150
OFAZZE 1,929,851 1,916,501 13,350
—ItEsE 54,720 49,920 4,800
UPNE 30,0003 152 *12& 5,400 3,600 1,800
SMAHA 70,0003 152+ 128 12,600 10,800 1,800
S AHA 110,0002x102+12& 13,200 12,000 1,200
—AsEXH| 185,000 2« 123 4,440 4,200 240
—As=EXH| 180,000& «1&x12& 2,160 1,980 180
—XZEAH| 175,000 x32& * 128 67,200 59,520 7,680
— AL (83 AEE)
50,0002« 18+ 450 0 450
Ot Es M| 209,415 207,615 1,800
—ItEsE 10,440 9,360 1,080
LUPNE 30,0002 x3& 123 1,080 720 360
SMAHA 70,0002 x3& 123 2,520 2,160 360
SUTHAHA Ol & 110,000 <3« 12 3,960 3,600 360
—As=2EXH| 175,0008 «3~ 128 6,300 5,580 720
08 SRH(PINAHA) 222+ 9,039,694 8,497,261 542,433
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2A:
T ZH -
o e

=aak

IR
HY2HZHI (IR
I8 =3

A -3 - SRA(3H) - HRAE - BES Ofl &F2H I8N Husz
ONREXE G- 28 5,789,744 5,358,567 431,177
—I123 2,228,300 * 1302 122 3,476,148 3,276,975 199, 173
—RIYE LAY
200,000 1302 122 312,000 300,000 12,000
—FougAl| 140, 00021 * 1302 * 122 218,400 210,000 8,400
—Za2+y 1,114, 1502 +1302 22 289,679 250,000 39,679
—Al2telag
20,46321* 130 < 10A| 2+ 122 319,223 278,250 40,973
—ANZtel 4 g (S 2E)
20,4638 +22x33AI 24+ 128 16,207 14,692 1,515
— AIZHQI & (25| AFR 1)
20,4638 12 x33AI 24+ 128 8,104 7,346 758
— AIZHRI S (ZRI X T A
20,4638 <22 x20A| 24+ 128 9,823 8,904 919
—AZtel A g (Raal)
20,4638 +22x33AI 24+ 128 16,207 0 16,207
— Y EEIH| 173,807,400 23| 347,615 300,000 47,615
—iE4y 232,800 211,200 21,600
e (IE 30,0002 4702 » 128 25,200 16,800 8,400
SRS 70,0002 %702 122 58,800 50,400 8,400
AU RHA 110,0008! 40 » 128 52,800 48,000 4,800
—2022t HDaH0IE
222, 8302 +190% * 18 42,338 0 42,338
O=0|3t8 2,237,846 2,160,063 77,783
-|=3 2,917,302 x35% 122 1,225,266 1,195,379 29,887
—iEsy 70,800 64.800 6.000
HM K 30,0002 20 * 122 7,200 4,800 2,400
=VWIE 70,0002 5202 122 16.800 14,400 2,400
- AR 110,000/ %102 » 128 13,200 12,000 1,200
— A2l 2R e
28,3502 3524 x25A| 24+ 128 297 675 210,270 27,405
—Al2tel2esg (22 B2AIY)
28,3502 42641 24+ 128 6.804 6.178 626
—guaRsg 226,8002 <3525 39,690 3,036 3,65
—20221 A DHAH0IE
291, 73023524+ 12 10,211 0 10,211
OJled 583,669 562,39 21,274
-l1=3 2,381,96021 <122 122 343,003 334,63 8,367
—guaRsg 26,151 23,601 2,460
sua2sg 181,6002! %122 122 26,151 23,601 2,460
—AItel g 65,376 50,228 6.148
AZbel g
22,7002 122 * 1541 24« 128 49,032 44,421 4,611
AIZHol g (s8] 6HE)
22, 700241224+ 10AI 262 16,344 14,807 1,537
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2A:
T ZH -
o e

=aak

IR
HY2HZHI (IR
I8 =3

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
&g 17,280 15,840 1,440
U PUE] 30,0002 6~ 122 2,160 1,440 720
SMAH 70,0003 »3& * 128 2,520 2,160 360
ST AHA 110,000& x3&* 123 3,960 3,600 360
—20224 d1ta0=
238,196« 128+ 12 2,859 0 2,859
OszE=¥ 428,435 416,236 12,19
—Jl2=s 2,658,810 «8F~ 122 255,246 247,811 7,435
—flg=g 50,000 8 * 122 4,800 3,840 960
—Al2tel=g
22,0404 +8F+15A| 2+ 123 31,738 30,802 936
— AR (= HEA)
22,040 x1Z+15A[ 2t 122 3,968 3,851 17
—Al2tel=E(SEI11E~-38)
22,0403 x8EH 22 A1 2H:6E 19,3% 18,824 572
-5 176,320 x8H 12 16,927 16,428 49
—ItE= 14,640 12,960 1,680
M AHA 30,0003 8 * 128 2,880 1,920 960
SMAH 70,0002 x4+ 123 3,360 2,880 480
AT AHA 110,000& x2H 122 2,640 2,400 240
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